
Model # Finishes Fini Acabado

D510055 Chrome Chrome Cromo

D510055BN Brushed Nickel Nickel brossé Níquel cepillado

D510055CPBV Chrome with  Chrome avec   Cromo con 
 Polished Brass  accents en laiton   ornamentación de
 PVD Accents poli PVD bronce lustrado PVD

D510055PBV Polished Brass PVD Laiton poli PVD Bronce lustrado PVD

D510055RB Oil Rub Bronze Bronze poncé à Bronce lustrado al
  l'huile aceite

D510055SNPV Satin Nickel with  Nickel satiné avec  Níquel satinado con 
 Polished Brass PVD accents en laiton  ornamentación de 
 Accents poli PVD bronce lustrado PVD

Pressure Balance Tub and Shower Faucet
Robinet à régulateur de pression pour
bain et douche
Grifo de presión balanceada para 
bañera y ducha

D510055-I/08-05.01

D510055 (VA)

Part  Nom Nombre 
Name de la pièce de Parte

Part #
# de pièce
# de Parte

Replacement parts, call :
Les pièces de rechange, appellez :

Partes de reemplazo, llame :

1-888-328-2383

Illustrated Parts List
Liste de pièces illustrée
Lista ilustrada de partes

A603882

A008664
A008241

A127008
S1221302
A112727
A022028
A020002
A019001

A603900M
A008338

A008010ZN
A069056

A018195
A075143

A006311
A010567
A060253
A009803
A104105
A041061
A507665

A603570
A034275

A603981
A028452
A203000
A031017
A303028
A603187
A004518

A004517

A017154

A523261
A603633

A004553

A603631
A048026

1. Thin wall Installation Kit Nécessaire d’installation sur  Juego de materiales para 
  mur mince instalación en pared delgada
2. Screw (M5 * 26 mm L) Vis (M5 * 26 mm L) Tornillo (M5 * 26 mm L)
3 . Screw (3/16" - 24 *  Vis (3/16 po - 24 *  Tornillo (3/16 pulg. - 24 * 
 2-3/16" L) 2-3/16 po L) 2-3/16 pulg. L)
4. Plaster Guard Protège-plâtre Placa para pared
5 . Shower Head Pomme de douche Cabeza de ducha
6. Water Saver Économiseur d’eau Restrictor de agua
7. Screen Washer Tamis et rondelle Arandela con criba
8 . Shower Arm Bras de douche Brazo de ducha
9 . Flange Bride Brida
10 . Handle Cap Capuchon de la manette Tapón
11. Screw (3/16" - 24 *  Vis (3/16 po - 24 *  Tornillo (3/16 pulg. - 24 * 
 15/16" L) 15/16 po L) 15/16 pulg. L)
12. Washer Rondelle Arandela
13 . Metal Handle Insert Insertion pour manettes en  Tapa de manijas en metálicas
  métal 
14 . Canopy Garniture Cubierta
15 . Screw (3/16" - 24 *  Vis (3/16 po - 24 *  Tornillo (3/16 pulg. - 24 * 
 2-15/16" L) 2-15/16 po L) 2-15/16 pulg. L)
16 . Escutcheon Écusson Escudo
17. Seal  Rondelle étanche Sello
18. Seal Rondelle étanche Sello
19 . Canopy Nut Écrou de garniture Tuerca de cubierta
20. Adjusting Ring Bague de réglage Anillo de ajuste
21 . Sleeve Manchon Manga
22. Ceramic Cartridge   Assemblage de cartouche  Juego de cartucho de disco 
 Assembly à disque en céramique   de cerámica
23. Temperature Limiting Device Régulateur de température Dispositivo de limitación
24. Pressure Balancing Insert  Pièce rapportée d’équilibre  Pieza de inserción para presión 
  de pression balanceada
25. Check Valve Clapet de non-retour Válvula de control
26. Plug Bouchon Tapón
27. Pipe Tape Ruban pour tuyau Cinta selladora para rosca
28. Allen Wrench (1/8") Clé Allen (1/8 po) Llave Allen (1/8 pulg.)
29 . Flange Bride Brida
30. Sleeve Assembly Assemblage de manchon Ensamblaje del manga
31. O-Ring (Ø13/16" ID *  Joint torique (Ø13/16 po ID *  Empaque circular 
 Ø1" OD) Ø1 po OD) (Ø13/16 pulg. ID * 
   Ø1 pulg. OD)
32. O-Ring (Ø9/16" ID *  Joint torique (Ø9/16 po ID *  Empaque circular (Ø9/16 pulg. 
 Ø13/16" OD) Ø13/16 po OD) ID * Ø13/16 pulg. OD)
33. Screw (1/4" - 20 UNF *  Vis (1/4 po - 20 UNF *  Tornillo (1/4 pulg. - 20 UNF * 
 5/8" L) 5/8 po L) 5/8 pulg. L)
34 . Spout Bec Vertedor
35. Piston & Cylinder Assembly Assemblage de piston et  Ensamblaje del pistón 
  cylindre y cilindro
36. O-Ring (Ø1/2" ID *  Joint torique (Ø1/2 po ID *  Empaque circular (Ø1/2 pulg. 
 Ø5/8" OD) Ø5/8 po OD) ID * Ø5/8 pulg. OD)
37. Cap  Capuchon Tapón
38. O-Ring (Ø9/16" ID *  Joint torique (Ø9/16 po ID *  Empaque circular (Ø9/16 pulg. 
 Ø5/8" OD) Ø5/8 po OD) ID * Ø5/8 pulg. OD)

D510055

• This model is packaged as a complete faucet or as trim/rough-in 
   components of the listed faucet.

• Ce modèle est emballé de deux façons : robinets complets ou 
   composants garniture/robinetterie brute du robinet indiqué.

• Este modelo se venden como  grifo completo o componentes 
exteriores/interiores.

 Available in all finishes above
 Disponible dans tous les finis susmentionnés
 Disponible en todos los acabados

26.

18.

12.
13.

27.

25.

17.
28.

16.

11.

22.

24.

35. 36.

37. 38.

15.

21.

14.

23.

20.
19.

29.

2.

1.

4.

3.

33.
32.

31.

30.

10.

34.

8.

9.

7.
6.

5.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


